
Evaluate 2 + x- 2 ·8  for x=9
A  -68 C  -5
B  58 D  72

Solve   44 = 14 – 2a
A  a=-29 C  a=15
B  a = 29 D  a=-15

Solve   -14 + s = 32
A  s = 46 C  s = -46
B  s = 18 D  s = -18

Solve b – 2 – 4b = -7 – 4b
A  b = -5 C  b = 1 
B  b = -9 D  b = 
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Solve 43a + 10 - 26a = 27 
A  a = 1 C  a = -17 
B  a = -1 D  a = 17

Solve 50q – 43 = 52q - 81
A  q = -19 C  q = -38
B  q = 38       D  q = 19
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Solve 7|x-6| = 49
A  x = 55 C  x = 55 or x =-43
B  x = 13 D  x = 13 or x = -1

Solve |6x – 9| + 5 = 2
A  x = 1 C  No solution
B  x = -2 D  x = -2 or x = -1

Solve  |x +5| = 12
A  x = 7 C  x = 7 or x = -17
B  x = 12 D  x = -7 or x = 12

If Debbie has k pencils,  which algebraic 

expression represents seven less than 

double the number of Debbie’s pencils?

A. 7 – 2k

B. 2(7 – k)

C. 2k – 7

D. 2(k – 7)  

If y represents Jen’s age, which algebraic 

expression represents one fourth of Jen’s 

age less five?

A.

B. 4y – 5

C. 5 – 4y

D.

5
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Stacee wrote 14 letters to friends each 

month for y months in a row.  Write an 

expression to show how many total letters 

Stacee wrote.

A. 14 - y

B. 14y

C. 14 + y

D. 14/y  

15.

16.

17.

18.

19.

20.

21.

23.

24.

25.

26.

27.22.


